Writing using the Four C’s




Name _________________________

How can you use one balloon inside another help your hovercraft go farther?

The answers below are examples of answers from students in previous years. 
Correct:  If the answer contains information that is wrong, mark that with an X.
Complete: The answer should include the essential points with emphasis. Mark each with a check mark.

Concise: If there is irrelevant information, repetition or wordiness, draw a line through that material.


Clear: If you are not quite sure what they mean – add question marks.     


What are the two or three key points that are needed to make a complete answer?

There are three points and they need to be made in order. A double balloon will exert roughly twice the pressure.  This means that it can support twice the mass. This means it will be twice as hard to stop. A really good answer will use words like ‘double’ and ‘twice’ and not just ‘more’ to emphasize how powerful this technique can be if implemented correctly. The results can be worse if the mass is not increased (less air time) or if the air flow is blocked by the double necks.
1) The result of another balloon inside each other creates more pressure., ,X.?? Xand.
Not correct nor complete: What thrust? What lift? What dead space?
2) When you put one balloon inside another, the air pressure is doubled. you add more mass. An object with more mass is harder to stop than an object with less mass. So the hovercraft goes further.
Not concise: Too much time spent on how to do it incorrectly, i.e. without altering mass.
3) Double pressure; so what you could do is add more weight. More weight means more starting momentum. More starting momentum means it will go farther. 
Not concise: Too much time spent on how to do it incorrectly, i.e. without altering mass.
4) One balloon instead another can improve hovercraft distance because the air pressure is increased. With an increased air pressure, there can be an increase in mass which can result in an increase of momentum and consequently an increase in distance. 
Not Clear: It is correct, complete and concise but what is not clear is how big a difference this change can make. 
5) Double-layered balloon Xpushing air out with more force. Therefore, more mass can be placed onto the hovercraft. The additional mass is beneficial because the hovercraft will gain greater momentum while sliding down the ramp, allowing it to hovering  ?????
Not correct nor clear: More elasticity does not mean more elastic force. The last word of the last sentence looks like it is refer to hovering for more time – which is wrong but it may mean more distance, but it isn’t clear. 
Write a response to the question that is correct, complete, clear and concise and worth 5/5
